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WEST BENGAL STATE UNIVERSITY
B.A. Honours 5th Semester Examination, 2020, held in 2021

PHIADSEO1T-PHILOSOPHY (DSE1/2)

Time Allotted: 2 Hours Full Marks: 50
The figures in the margin indicate full marks. aNfes I 0E KA Q"Y/VW fact FC 1
Candidates should answer in their own words AJIEAIF! e ©IRNF I ST XA N
and adhere to the word limit as practicable. e FEE |

Question no.1 is compulsory. Answer any fwo questions from the rest

SR e SRfF | SRR (ATF - 715 @tid Ted wie

1. Answer any four questions from the following: 5x4 =20
fasfEie - ofe eltss Tes nies
(a) Prove that empty set is a subset of every set. 5
2I7lel T #+) @A (@G @A Sl
(b) What is wrong with the following argument? 5

Socrates is a man. Men are numerous. Therefore, Socrates is numerous.
B GG e | A SRR | TG HC6H TR |

(c) Explain the principle of extensionality for sets. 5
T T@I® AGPRTOR F4 W FC! |

(d) If A is any set, what are the following? 5

A T @1 G 23, iz fWoa @efe /& 2@ 9

ANA
AUA
A~A
A~A
~Ae A

(e) What are the domain, counter domain and field of the relation of being a mother? 5
W RS FACF 2P0, elforaia evm-e @R oFg 79e [ 2@ 9

(f) Given a schema can it ever happen that by one set of substitution we get a valid 5
schema from it, and by another set of substitution an inconsistent one?
G9! 5 T AT @ (P! G0 AR G 27 T e st 966 (a0 il
A9 G O S &% 0T AR G RIS AT 211 2
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(2

(h)

(1)

0)

2. (a)

(b)

State and explain the rules of resolution for double implication.

fB- 2[5 64 TGS STFACER IJqe o] Swizged Tz A1 FC |

Define valid schema and consistent schema, following Quine. Give examples.
Quine-GF SR I (34 AFNFIR € WS} IFIFIER el whe @R F2E Wi |

Classify the following relations according to the properties they do or do not have
eg. reflexive, symmetric, not anti-symmetric, not transitive etc.

The relation of being a grandfather in the set of all persons.
If 4={3,5,8}and R={(3,3),(5,5), (8 8)}

e Twefns siomm @l @ «f i A @@, oF fSfere @dad F@ @™
(reflexive, symmetric, anti-symmetric =19, transitive 3 29J1 %) [

e LA (TG4 (G (oTaIg R 79|
M 4=3,5,8} @& R=1{(3,3),(5,5),(8 8}
Let 4={1,2}

What is the set of all subsets of A?

RAF A={1,2}

A-a3 1 Soigadt el e

Answer any fwo questions from the following
fwferiie @-@ie 77 @oiw Tea me

Which of the following statements are true for all sets A, B and C:
If AcB and Be Cthen Ae C
If A¢ B and B¢ C then A¢ C
e (T4 A, B @R C (FT064 0 Wafeifie @i ayefe 7oy 9
I Ac B @R Be C OZE Ae C
T Ag B @R Be C, 91T Ag C

What is domain of individuals?
o[- 90 fF Q@I 9

(¢) What is complementary set?

offasjes i ¥ 7

(d) There is a close relationship between saying that something has a property and

saying that it belongs to a class — Explain.
I TBCO T ¥ B0R, WF IGH ST @A 7y — @2 qiva 5y 7o 79 iz -
AT AN

3. (a) Letting V =the set of all people,

5126

A = the set of all Americans

W = the set of all American drinkers

P = the set of all philosophers

C = the set of all people who drink coffee
T = the set of all people who drink tea.

15%2=30

2+2
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Translate the following statements into symbolic form:
(i) Some American wine drinkers are philosophers.
(i) A philosopher drinks neither tea nor coffee.
(i) People who drink wine and coffee also drink tea.
V = e T (6
A = 3¢ RS G
W = 75T SC{PI MeCas G5 A 70 #A1 S
P = et wffeces o1
C = a1 NI TR e oA A
T = ><peT Ao < BT Al FC

O [T AT AT OF NPT P S
(i) g feg S s v
(i) 9T 7 I, i @GR 21 Fc@=
(iii) TR A GR FRF 2A19 FEA O =€ 2{1q FE |
(b) Let A={1,2,3} 5
B=1{,35}
Find AxB and BXA
g A={1,2,3}
B=1{,35}
M8 AXB @R Bx A
(c) Define Au~A=v 4
ANn~A=Aha
MRS, AU~A=V
ANn~A=Aa

4. Test the validity of the following arguments by Kenn diagrams and state in terms ~ 5x3=15
of regions of the diagram why the argument is valid or invalid.

@ETiforga Mg ffiie Ifeelr et v s  k Braa aepe sfiefs &«
& ¢34 Al S3Y ol T4 |
(a) All witnesses are prejudiced.
Some witnesses are not liars.

Therefore, some liars are not prejudiced.
IR AR AORFRTES | I I AR R 71 ok e Fiea e
SRS T |
(b) All liars are cheaters
Some witnesses are not liars.

~ Some witnesses are not cheaters.

e FIpRR 27 5% |
fog g AR = franaiat)
-, g g Pt 7 o)
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(c) ~Ac~(BnNO)
Cc~A4
BcAu~C

s~Bul)c~4

5. Differentiate between the concepts of subset, proper subset and Intersection of set 15
with example.

Trzel 7E T, 2pe TARM @R (AT W1y AL (e |

6. (a) Analyse the truth value of the following schemata by the method of resolution. 3x2=6
A 2Mafod AR e Amiemeftm worgen N s@n

@ [(p>9)pl>~q
(i) [(p-g)Vv(~p~r)=(g=r)

(b) Make a truth value analysis by applying the rules of resolution of the following 5
statements:

If they either drain the swamp and reopen the road or dredge the harbor, they will
provide the uplanders with a market and themselves with a bustling trade.

YR ICqH AR [Hleiie Apribe soren [Kese sl
I Ol TeTie e T NHHICT I B @R AW AR Y0 (R SR IR SOOI

el 78 @, O SRl THSTE GEIFE G ASIEE I8 FAE @R Weod &)
SIS GIAR AR FAA |

(c) Determine by the method of resolution whether there is a relation of equivalence 4
between the following two schemata.

p>(q-q) and (pvq)-(pVvq)
TG AEod Rl (TAE @S R 7104 T ANLOR 7% =i el
po(q-q) <R (PVvyg-(PVYq)

7. (a) Explain and illustrate the method of Fell Swoop. 5
Fell Swoop *I&fef 731 32 i |
(b) “Implications hold when and only when the conditional is valid.” — Explain. 4

“2If$ife T PR T A2 (FIS I AT (78 T — JIA F@

(c) Use the method of Fell Swoop to determine which one of the following schemata 3+3
implies the other:

AFTRE 707 T FIAD FIEEE 2fSmive 3, 2FFoited 2mfos AR e Feis
() pog, (i) po(gvr)

N.B. : Students have to complete submission of their Answer Scripts through E-mail / Whatsapp to
their own respective colleges on the same day / date of examination within 1 hour after end
of exam. University / College authorities will not be held responsible for wrong submission
(at in proper address). Students are strongly advised not to submit multiple copies of the
same answer Script.
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